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Political Science

Paper II

Tt feormm
gyarent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. €@ YA e

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

Give the correct answer by using the

codes given below :
Assertion (A) :

Most liberal democracies respect the
principle of equal liberty — at least
in the context of political, legal and
social rights of all citizens.

Reason (R) :

However, the doctrine of equal
liberty is bedevilled by problems
about how freedom is defined.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Hohd Y@l AR HEA 4rd IW S

fagam= A) :

Jgdh IGRUAAR! TIRINRl  (Tereen)
T A=A R 3TeY Hidmd- e
ANTRERT=aT TSTeh 1™, deNfeh, STHTISToR

Ul (R)

U AT A I hUe=r=l A

THER A WG drerell T 3T

'FF:?R'TW

(A) =T (A) T (R) sIsR 3TTed STIfur
(R) § (A) 9 g TqEeh0 38

(B) T (A) 307 (R) © aeR 3Ted W
(R)  (A) ¥ IJFg TSR0 &l

(C) (A) T IR 318 T (R) & TH 378
(D) (A) T TH 3¢ g (R) & S 3T
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Match List I with List IT and select
the correct answer from the codes
given below :

List I
(a) Theory of alienation

(b) Theory of
materialism

dialectical

(¢) Theory of class war
(d) Theory of revolution
List II

(1) Disjunction arises between
relations of production and the
means of production

(2) No major antagonism
disappears unless a new
antagonism emerges

(3) A state of consciousness shaped
by relations between man and
objects

(4) The economic structure of
society is the real foundation of
society

Codes :

(@ b)) @ @
Aa O @ @ G
B 3 @ 2 @
< @ 3 @ @
D 2 1 G @

Political equality is best guaranteed
in a :

(A) Plutocratic state
(B) Fascist state
(C) Totalitarian state

(D) Democratic state

2.
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At I & AR 11 3 Sfeean ST Hehd
H\_tﬁ'q%fl I I e

R |
(@) TUEETET fagid
(b) ggras AifqewacrEr faga
(c) Tiggrn fagm
(d) whidrn fasid

et 11
(1) ScIRATS Haie S0 ST AT

AR FoE geard

(2) 7aH eFafaiy fafiq gean fem,

ST STafaRy faed s A

(3) #I™ oMU TR A=A WA
Sforerelt feerdt HreR ol

(4) GHMSTCE 3T TEAT 2" GHST
L 9

Heha A
@ b)) © @
@A D @ @ @
B 3 @ @2 @
©C @ 3 @
D @ @O @) @
....... e & ST THGE W 3T
(A) vary/afewE T
(B) wfae T
(C) TdHuERT Ty

(D) TRIME T




‘Liberalism’ as a developed ideology
was a product of :

(A) Breakdown of feudalism
(B) Weakened monarchy

(C) Weakened Church

(D) Growing industrialization

Match List I (Feminists Thinkers)
with List II (Their books) and select
the correct answer from the codes
given below :

List I
(Feminists Thinkers)
(@) Mary Wollstonecraft
(b) Simone de Beauvoir
(¢) Andrea Dworkin
(d) Betty Frieden
List 1I
(Books)
(1) Pornography and Civil Rights
(2) The Feminine Mystique

(3) Vindication of the Rights of
Women

(4) The Second Sex
Codes :

(@ b)) () (@@
A 1 G @ @
B 2 O @ O
€ @ @ 6 @
D 3 @ 1 @
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CIGIREED FHIOTA AT IIRATARE T
forerfid  Taemgomet=an fEiomen s
ol 7

(A) TSTHIMENE UdH

(B) 3o Seiell JSTemmet
(C) 3o deiell gHa (I9)
(D) dmed SeIfiTehieRTu

I 1 (Y= fommaa) aet 11 (=
q&Ieh) I ool MU Welld Hohd
YHHYT I I e

iGN |
(v&Ta faemaa)

(@) T ACRHEHTR
(b) THAM T =
(c) cffgan el
(d) sl Hied

Trer 11

(T&Teh)
(1) ‘dFmme ofe fafea wEed’
(2) T it fafes
(3) ffeshem otk T WEew sifw faim
4) T The T
Hehd Tt :

(@ ®) () ()

A O G @ @
B 2 @O @ O
€ @ 2 6 @
D & @ 1 @
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Which one of the following
ideologies is premised on the belief
that established features of society
have crumbled and its political
doctrines have become irrelevant ?

(A) Modernism

(B) Postmodernism
(C) Marxism

(D) Foundationalism

Which one of the following is a
central feature of liberal feminism ?

(A) Sisterhood

(B) The personal is political
(C) Transforming private realm
(D) Access to private realm

Who have found three-dimensional
conception of power particularly
attractive ?

(A) Fascists
(B) Conservatives
(C) Marxists and postmodernists

(D) Liberals

Who among the following has offered
a three-dimensional conceptions of
power ?

(A) Brian Barry

(B) Peter Bachrach and M.S.
Baraty

(C) J. Gaventa
(D) Steven Lukes

6.
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etedeh! ol faamyoet s
GHTSER SR 3T, 1 ol FETfd
HHTSITE B2 ShiH@e ST = USiehlY
g 3T el 3Ted ?

(A) STYhdIETR

(B) IW-AYfThdram
(C) HrERIaR
(D) YrErdedlg

WeATeTeh! iUl IeRATAR! foemem™
Heedt Jfyee g ?

(A) W Y&
(B) =AfFd g TShA

(C) ESH 3TFhRTE ®T

(D) @IST STIeRIeNd aTdl

WTATeAdeh! shTomer Tx=l A Tered
AR gt ?

(A) wfae

(B) ®ereet

(C) TodaEt 9 IW-3Mefehdrem]
(D) SERAERT

WeAterisht vl et Bt deheu
Treett TR ?

(A) §mEA S’

(B) dieX areRre MUl TH. TH. SRt
(C) . T
(D) et




10.

11.

12.

13.

In which type of democracy, the
people are considered as an end and

state as the means ?
(A) Liberal

(B) Pluralist

(C) Elitist

(D) Socialist

Who is known as the father of liberal
political philosophy ?

(A) Thomas Hobbes
(B) James Bodin
(C) John Locke

(D) Rousseau

According to Marx, the class

distinctions in society are based on :
(A) Religion

(B) Hostile interests

(C) Family status

(D) Social status

Rawls concept of justice is based

03 OO .
(A) Distributive principle
(B) Agreement principle
(C) Difference principle
(D) Joint method principle

10.

11.

12.

13.
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IV TR ATRIRHES Tleh § T1ed
afor =g ¥ 9o e9d ?

(A) SERHEAERT
(B) wgetee!
(C) AfsTamst
(D) HHSERT

EIUEEHICGEIHRSEIRK RGBS RET

BUH 3lesEell Sl ?
(A) o9 glss

(B) SF/8 d%
(ORSIESIED

(D) &4

o= Hd THSAS o 9

T ST 3R

(A) e

(B) forieht feaway
(C) Higfoh i

(D) |mHETfSe gt

Uog=l =M=l Shed ]

T AU TR.
(A) faaUoneHesh
(B) IR
(C) ¥ T

(D) 9gF Ugd ad
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14.

15.

16.

17.

Who from among the following
believed that ‘negative liberty is

superior to positive liberty ?’
(A) J. S. Mill

(B) Isaiah Berlin

(C) T. H. Green

(D) Ernest Barker
Which one of the following pairs is
not correctly matched ?

(A) Pareto — The

residue

concept of

(B) Michels — The concept of mass
mind

— The
political formula

(D) Gasset — The theory of the

masses

Which philosopher believes the state

of nature was a “War of all against

all’ ?

(A) Rousseau

(B) Locke

(C) Rawls

(D) Hobbes

The idea of two concepts of liberty

(C) Mills concept of

was putforth by :
(A) John Stuart Mill
(B) Isaiah Berlin
(C) Harold Laski
(D) John Locke

14.

15.

16.

17.
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ETeiTeTdeh! ShIvTeAT fa=amadi=n sl
fasam R ! ‘THERCHE WA ©

RIS @aAe T g 2
(A) S T fua

(B) zHm@N Sfer

(C) fe. . ¥

(D) & Sk

EeHeTdeh! R0 ST el el TRIThI

oAl A ?

(A) W& - STERTEET Fheu
(B) froeq - SAEMETEl Hehe
(C) fored - TSR YA Heheudl
(D) &y - SHEern s

e foamaaren 1q, ‘ framfaeen’ &
Herte Faifaes g’ el feordt 2 2
(A) =41
(B) <l
(C) T
(D) ®les

TEIAATAT 19 Heheyar & fa=ar
WTelledeh! 1o Heal ?

(A) S wge i

(B) 9™ dfer

(C) &es oIEhl

(D) w4 @ik




18.

19.

20.

21.

The concept of ‘forced to be free’ was
first enunciated by :

(A) Thomas Hobbes

(B) John Locke

(C) Jean Jacques Rousseau

(D) Georg W. F. Hegel

What is Mill’s main objection to the
silencing, or suppression, of an
opinion ?

(A)
(B)

The opinion might be true

There is a high probability that

the opinion is true

(C) The person whose opinion is

suppressed is harmed

(D) A competition of opinion is good
for humanity

What is Rawls’ original position ?

(A) A primitive cultural condition

(B) An experimental set-up used by
psychologists

(C) A historical event at which
people agreed to form a state

(D) A hypothetical situation—a

thought-experiment

The book ‘Who were the Shudras’

was written by :

(A) Periyar E. V. Ramasamy
(B) M. K. Gandhi

(C) Dr. B. R. Ambedkar

(D) V. D. Savarkar

18.

19.

20.

21.
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‘Gad groaTel Wil @ HWehed l WeH
E i |
(A) st s

(B) SiA ek

(C) S & &4

(D) wifsl Tsg]. TH. A

FIVCATE TaT= qEhegel fhal TSI
FeR THE Sdeial Y& ST&T hivrm ?
(A) T ©R AU IRl

(B) Td ©R STUITE! 3= i G

(C) <91 A=A HaTel SR et
Tl FTeTell gemd

(D) HATHATd Sqi B HeEISt Set
3TEd

U= 70 Hob feordt wiordt o ?

(A) efcH Hiepfaer TRieerd

(B) ARSI o shetel wrEfies
ECE||

(C) o o9 e TR gesr=n
e o

(D) gurer feudt-faam-w=m

‘I U BId § g ol fafgel 2

(A) @R 2 = THEE

(B) HI. . e
(C) . e STaeH

D) fa. 7. G

[P.T.O.



22.

23.

Match the following two lists of
thinkers and books written by them.
Choose your answer from the codes
given below :

List I
(@) R. Tagore
(b) M. N. Roy
(¢) B. G. Tilak
(d) V. D. Savarkar
List II

1857 : The First war of
Independence

(D

Letters from Russia

2)
3)

Reason, Romanticism and
Revolution

(4) Orion : The Arctic Home of Vedas
Codes :

(a)
A) (2)
B) )
o @O @ 6 @
D @ @O @) 3

The book ‘Religion of Man’,
published in 1931 was written by :

(A) Sri Aurobindo

(B) Swami Vivekananda
(C) M. K. Gandhi

(D) B. R. Ambedkar

(d)
(1)
4)

(b)
3)
(2)

(c)
4)
(1)

22.

23.

SEP - 15221/I11—A
el feeiedn <9 IEmeie foamed o

T fofeerell e A= S el

TR feerean Fehd YEHYT A W Hael.
&t 1

REECICRERIN

A

oM TR feaeh

(@)
)
(c)
(d) fa. <. HEH
e 11

‘1857 : dfedl WA Ig'
‘Tred wiE IR
3) ‘g, Afefaem sfe Redegem’
(4) 'SR : T 3Mfdew B 31 de’
Hehd Tt :

(@) (b)
A 2 3
B) 3) (@)
© @® 2 B @
D @ O @ G

‘Rfes ot 79" &1 1931 98 Y1
Tl A e g Bl

(A) it efeR

(B) Tt foaepg
(C) . . e
(D) oft. . e

(1)
2)

(c)
4)
1)

(d)
(1)
(4)

10



24.

25.

Which of the following statements
are incorrect ? Choose your answer

from the codes given below :

(@) Sri Aurobindo was a liberal

thinker

(b) M. N. Roy enunciated Radical

Humanism

(¢) Jawaharlal Nehru was a

crusader against imperialism

(d) J. P. Narayan promoted

Marxist revolution
Codes :
(A) (a), (®), (0)
(B) (@), (d)
(C) ), (c)
D) (a), (), (d)

Swami Vivekananda’s famous speech
at the Parliament of World
Religions in Chicago was given in

which year ?
(A) 1893
(B) 1890
(C) 1891

(D) 1892

24.

25.
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TTeAieieh! o= faem 9% smed ?

e feeiean Hoha Yemyd o S| fae.

(@) & 3Rfog ¥ SeRAqar! foarad e

(b) WEAZAIY I AT HAUTE!
TG qUERR shell

(¢) AR A&l grrsgare faviet
el foen

(d) STEIYHRT TRE0 AT A
SHidral LR hell

Hehd AT :

(A) (a), (b), (c)

B) (@), (d)

(C) (), ()

D) (a), (b), (d)

forerrl et SmTfaes eruieRd TorH]

froRTG T ShivTa ST el UG, o

el ?

(A) 1893
(B) 1890
(C) 1891

(D) 1892

11
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26. Match the following lists of thinkers

27.

and their respective political parties :
List I
Dr. B. R. Ambedkar
Jawaharlal Nehru
Ram Manohar Lohiya
V. D. Savarkar
List II

Indian National Congress

(a)
)
(c)
(d)

(1)
(2) Republican Party of India
(3) Hindu Mahasabha
(4) Samyukta Socialist Party
Codes :
(a)
(A) (1)
(B) 3)
< 2 1O @ 3
D @ 2 3 @

Which of the following are not the
books written by Dr. B. R.
Ambedkar ? Choose your answer
using the codes given below :

(b)
3)
(2)

(c)
4)
(1)

(d)
(2)
(4)

(@) Slavery

(b) The Life Divine

(¢) Hind Swaraj

(d) Annihilation of Castes
Codes :

(A) (a), (B), (c)

(B) (a), (c), (d)

(C) (®), (c), (d)

D) (a), (®), (d)

SEP - 15221/I1—A

26. el fooiedn <9 Femmda foereaa o

27.

Y ST qeT AAT SISl .
arer 1
. RS STASH
ST e
THHAIRY Tlfea
fa. . e
arer 11
AR T i
frgfseer Uidl 3l gfean
(3) feg wem@w
(4) TgF FUSERT T8
Hehd eIt :
(@) ()
(A) (1) (3)
B 3 @
© @2 @O @
D 4 2 @B (@
T TeTdeh]  hIvTd] g Oaiqsiod-ﬂ
feaferelt i 2 qe foiean wehd ey
7 SW faen
(@) TEERRT
(b) T A femEd
) f&g ==
(d) SfaEEd= 3=ame
Hehd eIt :
A) (a), (b), (c)
(B) (a), (o), (d)
(C) (), (o), (d)

D) (a), ), (d)

(@)
)
(c)
(d)

(1)
(2)

(c)
4)
(1)

(d)
(2)
4)
3)

12
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28. Select the incorrect statement from | 28 wrefia faummeta g faum e
the following statements : L .
(A) Muhammad Igbal supported @) gsqu Fepefiel Al Taths TGl

‘Two Nation Theory’ RUCEINES]
(B) Dr. Ambedkar chaired the (B) Sl 2TeEhi SAHHC= agal
Drafting Committee of the =
Y ‘aqiaé
Constituent Assembly e
(C) Deendayal Upadhyaya was the (C) <A STEAT & AR el Wi
founder member of the TS TS B
Bhartiya Janata Party (BJP) o e
, (D) . . M AT 3 TS ¢ THIh
(D) M. K. Gandhi wrote the book
‘Hind Swaraj’ NIEN

29. Who among the following started | 29 AR IO * A Feoles =]
‘Self-Respect Movement’ ? E
(A) Swami Vivekananda (A) @@t foqeerg
(B) B. R. Ambedkar (B) . . . e
(C) Periyar E. V. Ramsamy (C) R 8. = T
(D) Ram Manohar Lohiya (D) THAAR St

30. Arrange the following works of Sri | 30. ¢ 3RfoR I Wai fSeTel T FHIAHATHR
Aurobindo in chronological order. e g feeiedn Hehd YETHYT sRIe 3T
Select the correct answer from the faer
codes given below :

(1) The Moth (L) <A
e Mother

(2) T R fe=rE
(2) The Life Divine SE.

3) TES 3
(3) Essays on Gita ®) . L. )
(4) Savitri : A Legend and a Symbol (L%) ST @ 31 S St 4
Codes : e ol
(&) @, @, 1), @ (B @), @, 1), ()
®) @), @, @, @ (B) @), (1), @), @)
© @), 3, M, @ © @), 3), (M, 4
D 1), @, 3, @ D M), @, 3), @

13 [P.T.O.



31.

32.

33.

34.

Which of the following statements
is incorrect ?

(A) Pakistan under Zia-Ul-Haq is
an example of military
dictatorship

(B) Myanmar is an example of
democratic state

(C) Germany under Hitler is an
example of Fascist state

(D) Cuba is an example of
Totalitarianism

According to World system theory,
what is the relationship between
core and periphery ?

(A) Exploiter and Exploited
(B) Rulers and Ruled
(C) State and Citizens
(D) Imperialists and colony

Who wrote the book, ‘Politics and
Stages of Growth’ ?

(A) Walt W. Rostow
(B) David Apter

(C) Gabriel Almond
(D) Joseph Schumpeter

Which among the following is not
mentioned in the five stages of
growth mentioned by W. Rostow ?

(A) Traditional Society
(B) Take-off state
(C) High mass consumption

(D) Technological advancement

31.

32.

33.

34.
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WATdAUsh! v faam s@Erg og ?

(A) foa1 3a Bah IT=AT FTBAA
RET B TToh{l GRAIE 3SRl
318

(B) ®MHR § chIEl TSard 3STedl
318

(C) Tocat=n Tgamrareiial SHAT § %I
T I 3T
(D) T § AT HIEE SATE0T 3T

SR SHereen Tagramed she 31T ode
AT T HIMIhRD 3TMed ?

(A) TUIUh HIOMT 307 TUeseufen
B0

(B) TSIk AT =T

(C) Tsa 3fur Ariieh

(D) SHTsFaE! A gHEd
‘gifereied ofre Woig ik My’ ¥ T
Ho fafea ?

(A) S =g, T

(B) sdte ofex

(C) TfoTa sTeHs

(D) SIE® YT

&, TR ATAT o=l U <o e
WeAeden! hIvTal <o FHIfase el ?

(A) IRURE THN

(B) IS0 3HTE

(C) TR HESh STHM
(D) TS fohrd

14
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35. Who classified political culture in 35. J\|\7|c|r;\|¢| g@(ﬂq qlﬁch{uu {.iqgr-qq)ﬁm'g
three Parochial, Subject, f TR, o R G 7
participatory ? ’

A . . faude
(A) S. M. Lipset (A) T T
(B) Gabriel Almond and Verba (B) Tiert s S i
(C) Robert Mclver (C) T X
(D) Edward Tylor (D) TEaE el

36. Given below are the two statements, | 36. w@reid g faum et 314, (A) ® faum
Qne is Assertion (A) and the other S (R) T HNO AT
is Reason (R) :

Assertion (A) : faem (A)
In recent years welfare state is AR S Hhleld HedTIRI] TSI
gradually diminishing. TR B T ST
Reason (R) : &I (R) :
Due to globalization the sovereignty ST{eh IR RO TSAT=AT |re ey
of states is at stake.
qET AT 3.
In the context of the above two ’
statements which one of the T g faumren deuld @refierdeht
following is correct ? Jmg g9 faer
Codes : Tt
(A) Both (A) and (R) are true and - : ;
(R) is the correct explanation (A) (&) R) MEN
£ (A (R) ® (A) = Irg TR0 R
of (A)
(B) (A) is correct but (R) is incorrect (B) (A) sieR 3¢ 9u (R) Tk e
(C) Both (A) and (R) are incorrect (C) BT (A) =TT (R) I MR
(D) Both (.A) and (R) are true but D) A= (A) A1 (R) =
(R) 1is not the correct
explanation of (A) (R) ® (A) & T TR el
15 [P.T.O.



37.

38.

Which among the following can be
subject matter according to
Institutional approach to
comparative political analysis ?

(A)

British Parliament and Indian
Parliament

(B)
(&)

Indian and Swiss Constitution

American and Canadian
Political culture

(D)

Democratic and Totalitarian
leadership

Which of the following statement/s
is/are not correct description of
‘Theory of Peace’ ?

(@) It shifts the focus of
international relations away
from the interstate level of
analysis

(i1) It leads to a broad conception

of social relations at individual,

domestic and global levels of
analysis

It seeks to deconstruct the
narratives of states,
international systems and other
actors in international politics

(tii)

(tv)

It connects study of war and
peace with economic inequality,
with gender relations, with
cross-cultural understanding

Codes :

(A) Only (i)

(B) (i7) and (iv)

(C) Only @17)

D) @), (i1i) and (v)

37.

38.

SEP - 15221/I1—A

qeTTcHe TSTeh1a ToReTsIoTea e
gfteshiama wead®! Hivmar oo

e Ll [
(A) ot enfor vyRdE 99g
(B) uRda omfor Ragreiet Tsgse

(C) TARGA 9 HSTel TSehid TLhd
(D) TRIME Mol Felers g

@iieTdeh! shIvTd faem™ viida=an fagam

e U AR ?

(@) T AT TSThROMEEA I
AT SMAWST  UTdSadd

~

[ N N o
IERNENIEISIE SN

dafeqew, =adt enfor dfvaw
qIdcsioiicl TSR Tl ehl
M0k Gohoedaehe df =d

(i1)

(ii7) < STAWTSIT TSThRUTS o=
HYT A LT 0T TR

geehia fo= {0 T hid

Gu) < 5 ST = 1, e
fasmar, S-qFs @ae o
STTAR-FREh e THs AR ST e

Hehdich :

(A) *aes (iii)

(B) (i) =0 (iv)
(C) e (if)

(D) @), (i) = (iv)
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39.

40.

‘The clash of civilizations’ and ‘New
World Order’ predict an ideological
shift in the Post-cold war period
from :

(A)

Political ideology to economic
liberalism

(B)
(C)

Geopolitics to geo-economics

Nation-state to the civilization
area

(D)

Political ideology to culture and
religion

Match the pair using the codes given
below :

List I
(1) Immanuel Wallerstein
(i) S. M. Lipset
(ziz) David Apter
(fv) Samir Amin
List II
(@) Modernization
(b) Dependency theory
(c) World system theory

(d) Democracy in developing

countries
Codes :
(A) @)-(a), G1)-(b), (i)-(d), (iv)-(c)
(B) @)-(c), Gi)-(d), (GiD)-(a), (iv)-(b)
(C) )-d), @)-(a), Gii)-(c), (iv)-(b)
D) @@)-b), Gi)-(d), (iii)-(c), Gv)-(a)

39.

40.

SEP - 15221/T1—A
NN LR CIGIPEN R e foTe)

e, IMAGSR F@[ Hod foar

Rl a5l Bidiel T8 Fafoar ?

(A) USTHTg faargeft @ o nfus

EHUETU

(B) SXSERUTIRE  3- 37efehreot
(C) TE-THE F2HS

(D) USRI TTAREOMh g HEhdl o

LR o)

Seltel e 9 hed Ar el
S[osd

et 1
() TEFAA AN
(i) TE. . fauge
(iii) edte efex
(fv) T A

RICA i |
(@) SRR

(b) TEAIAET Tagr=

(c) Sfaes e fagid

(d) fowoTeia awdmda amme
Hehdieh :

(A) @)-(a), )-(b), (iti)-(d), (iv)-(c)
(B) @)-(c), G)-(d), i)-(a), (iv)-(b)
(C) )-d), @)-(a), [@i1)-(c), (iv)-(b)
D) @)-b), G)-(d), (ii1)-(c), (iv)-(@)

[P.T.O.



41.

42.

Assertion (A) :

Classical Realism argues that
conflict among nations in inevitable.

Reason (R) :

Classical Realism believes that
balance of power can secure peace.

Codes :
(A) Both (A) and (R) are incorrect

(B) Both (A) and (R) are correct, and
(R) 1s the cause of (A)

Both (A) and (R) are correct, but
(R) is not the cause of (A)

(&)

(D)
Assertion (A) :

(R) is correct but (A) is incorrect

Modern technology enhances the
importance of war and threats of
war.

Reason (R) :

War no longer is just a contest of
strength. It is more a contest of
nerve and risk taking.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

Both (A) and (R) are true, but
(R) the
explanation of (A)

(A) is true but (R) is false
(A) is false, but (R) is true

(B)

is not correct

(&)
(D)

41.

42.

SEP - 15221/I1—A

faam (A) :
s ..
iuT (R) @

SIS TRAEIRITER FAEdeTTges STl
TEATYA Ll 3.

Hehdish :

(A) (A) sufor (R) S8t Ik TRd

(B) (A) 3Tfur (R) St SIeR 3Tred, 3fur
(R) ® (A) & &I 3R

(C) (A) 3Tfor (R) Tt e 3Ted, T
(R) ® (A) ¥ HRU &

(D) (R) TR 3TE, I9 (A) IF 378

fagam™@ A) :

MY AT IS AT JgT=n

fiydi= gt dea 8.

%R0l (R) :

Ig ¥ ST Hhdes seordl Tt G ol

ST STereIvt Tael el ST M Eieh

e ..

et

(A) =T (A) fr (R) S 3118 3T1fuy
R) ® (A) ¥ 4rg TR 3

(B) T=I (A) A0 (R) s&X A&, 01
(R) ® (A) = a9 TIEIRI0 T8l

(C) (A) TR g 907 (R) I 3T
D) (A) I% % 90 (R) X 38
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43.

the

following treaties in the correct

Chronologically arrange

ascending order :
@)
(z1)) The Treaty of Westphalia

The Charter of the UN

(zit) Treaty of Utrecht
(tv) Treaty of Paris

Select the correct answer from the

codes given below :
A) (), G), ), (i)
B) Gi), (), G), (i)
(©) i), Gid), Gv), G)
D) (), Gi), Gii), (v)

43.

SEP - 15221/I1—A

T IR FHIARHATTIR TSR
Sh¥H el

() TgF AT T8

(i) ALHiTA FI

(i) 33T PR

(Gv) IREE FR

Tl feeiea gl o Hed 4 St
fomr -

A) Gv), @), @), @)

(B) @), Gv), @), @)

(C) @), @), Gv), @)

D) @&, @), (), (Gv)
44. Buffer state refers to :
44, 'THU T WOS K ?
(A) A state situated in the middle
of an island (A) ST HEAWR SFHIMR T4
(B) A state located between two (B) T UHE IEAMY STEUR T,
powerful enemies, which acts as S e AT Shieald YehTIIoh
a cushion in case of escalating
U M hid
tension
(C) A state which is bound by a (C) 3R T S FIRF=, el g
treaty to act as a close ally of Sl fi WA R A
a powerful country (D) S T FELAATHERG ST TN
(D) A state strategically located on ST, AT g HIEH —
a mountain, giving it an upper
hand during war T
19 [P.T.O.



45.

46.

Which of the following statements

are not true ?

(1) Security dilemma is an
important paradox of the state
system

(2) Arms race increases insecurity
of states

(3) Arms control is a solution

(4) Standing armies contribute to
security of all

Codes :

(A) (1), (2) and (4)
(B) (1) and (3)
(C) (3) and (4)
(D) (1) and (4)

Which of the following is not a non-

traditional security threat ?
(A) Arms Race

(B) Melting of ice caps on

mountains
(C) Starvation and malnutrition

(D) Trafficking of humans

45.

46.

SEP - 15221/I1—A

TATAteh! o a9 se) 3R ?

(1) T gfaen & T HATRIYEd
el foliena® e

(2) T THEHes A=A ST aTada
@ B AR

(3) &= fEam & omeld TaE eTe
(4) @2 ¥ gaten e Irem

h {dld
Hehdleh :
(A) (1), (2) 2for (4)
(B) (1) 37for (3)
(C) (3) =mfur (4)

(D) (1) efor (4)

TITATATHhT HITAT eHT 8T FI&TaT

URORer kT ATEr ?
(A) ey

N

(B) aai¥TerRe’ial ot fordeol

(C) IUFHR 31T sRHrooy

(D) HMeT=T A9 SATAR

20



47.

48.

49.

Which of the following statements
is true ?

(A) The UNCLOS upholds the idea
of the Freedom of the Seas

(B) The UNCLOS sets the limit of
Territorial waters at 20 nautical
miles from the baseline

The UNCLOS sets the limit of

the Exclusive Economic Zone at

(©)

200 nautical miles from the
baseline

The UNCLOS sets the limit of

the contiguous zone at 15

(D)

nautical miles from the baseline

Which of the following is not an
instrument of peaceful resolution of

disputes ?

(A) Mediation
(B) Sanctions
(C) Adjudication
(D) Good offices

“Prisoner’s Dilemma” is an idea
associated with :

(A) Game theory

(B) Systems theory

(C) Decision-making theory
(D) Peace theory

47.

48.

49.

SEP - 15221/I1—A

@ATeTUeh! hIvd faaM ael 3R ?

(A) FIF IeSE AR FHERfawEs
TReE AT TG Heql Seel
R

(B) ¥gF TSI AR I asaeh
REEH WRf¥Teh FHETE! HAQl fham
TOEA 20 Mfask Hd Sael 3T

(C) I UK R HRAG oIS
oo TEta i & foRAm
TAEA 200 Aiforen Haer ffeea
%l 3

(D) T TS AN Ao
TREe Her & HAer fRaw
AR 15 Ao Harer ffvea
el 3R

ETeiTerdeh! Shivd |1EH foamer= siaarget
PRI 0 |EA AT 2

(A) HeRey
(B) =1

(C) =g <0
(D) T AfHEH

"t gfau’’ & weud @elerdeh!
Fivr fogaRt gaftia o ?

(A) U= fagm

(B) =xawen fagid

(C) frofaufrd=n fagma
(D) @i fasm@

21
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50.

51.

52.

Who elects the judges of the
International Court of Justice ?

(A) UN General Assembly

(B) UN General Assembly and UN
Security Council

(C) UN Security Council

(D) UN Security Council and

Economic and Social Council

Which of the following statements
is true ?

(A) India has not signed the Trade
Related Investment Measures
Treaty

(B) India was not an original
member of the General
Agreement on Tariffs and

Trade

India has not signed the Trade
Related Aspects of Intellectual
Property Rights Treaty

(&)

(D) India’s Intellectual Property

Regime is TRIPS-Complaint

During which of the following years
did India NOT borrow loan from the
International Monetary Fund ?

(A) 1961 — during Second Five Year
Plan

(B) 1981 — after the return of Mrs.
Gandhi to Power

(C) 1991 - by pledging the national
gold reserves

(D) 2007 — during the worldwide
financial crisis

50.

51.

52.

SEP - 15221/I1—A

ST AT =R fHae
I FHIAE ?
(A) TIF TSI AT

(B) e U=l SAHE i) W
T GRan aie

(C) Tga TSI GRa uieg

(D) e TS GRam g, ST g
T e o "M aieg

@ATeTUeh! hivd faaM sel 3R ?

(A) SARfaSEeE 9T SUEr=A HIRER

YA Teerl shetedl el

(B) WRd @ T I Yo W& AR

(C) HRfaEeh difger Hued 3T

1 HIRER A e herel! el

(D) YAl sifgesr duer oM =gawen
foustt gEma -t

GITATeTIehT ShIUT 6T TR ST

rofEihed @St wael Teed 2

(A) 1961-TH=a1 THaTlEh  Frs=a

<hloold

(B) 1981—sfHdt et Hdd W]

(C) 1991 HIviHEl TeIol 39

(D) 2007—Smfdes foxi Heher=T hicdd

22



53.

54.

Which of the following is the most
correct description of geographical
priorities of Modi Government’s

foreign policy ?
(A)
(B)

US, Latin America, Europe

Neighbourhood, Extended
Neighbourhood, Indo-Pacific

(C) Latin America, Southern Africa,

Central Asia

(D) Indo-Pacific, Western Africa,

Western Europe

The SAARC Motor Vehicle
Agreement was proposed
November, 2014; but could not be

accepted due to objections from

in

Pakistan. Subsequently, the same
agreement was accepted in June,
2015 by four SAARC member
countries under another name.

Which were these countries ?

(A) Bangladesh, Bhutan, India,

Nepal

(B) Bangladesh, Bhutan, Nepal,

Sri Lanka

(C) Afghanistan,

Bhutan, Nepal

Bangladesh,

(D) Bangladesh, Bhutan, India,

Sri Lanka

53.

54.

SEP - 15221/I1—A

AN NN e N A
Yllietqen] nlUld qVlH HIQT dXenX=d]

T RO el em=rsh
Talfyeh e Ui 3Te ?

(A) I. 4., offeq @i, g

(B) IR <31, faeaia
fee-vema &

ISR 29T,

(C) ifes eTfenT, Sfeqolt oTiftheht, Aem
AT

(D) feg-wema &=, ufy=sw enfrer,
qfe=m JLa
Frger 2014 HY W HER 96T HIR

@ A B Tehel AL Fa) S[E 2015

Y k<Al IR GYHS I STesal 19
T FR H ol d 29 I ?

(A) INTEARY, dH, YR, s

(B) TSI, YA, WdTes, siieidhl

(C) ST, IFTAGET, YA, I3

(D) AFTARYI, aH, WRd, e

23
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55. Match the correct pairs using the | 55 g Seq ezl

key given below :
The roles of the Indian Navy as
envisaged by India’s Maritime

Doctrine :
Column I
(@) Military role
(b) Diplomatic role
(¢) Constabulary role
(d) Benign role
Column II

(z) Defensive operations to protect

own forces, territory, trade

(iz) Use of naval forces to build

friendship
(#ii) Maintain good order at Sea
(i) Conduct hydrographic surveys
Codes :

A) (@)-ii), B)-(iD), ()-(iv), (d)-(i)
B) (@)-(), (b)-GD), (¢)-iii), (d)-(iv)
(©) (@)-Gv), (B)-Gid), (©)-GD), (d)-(i)
D) (a)-id), (B)-Gv), (©)-G), (d)-Gi)

TRATAT 9 SifaeTqe Tiffaerest
IRAE Agaren i

w1
(@) TR YfHeR
(b) TSHFR YfHRT

(c) Wit yfien

(d) HEHM YfHehT

w11
() @A e, Yo Mo AR
IO HIOIMEEST Shoied] HLeTHh

h ATl

(i) T &Y S9EuIEet Aedr
IR

(i) W &5 Gereree el
(iv) BESH e HaA&

Hehdieh :

(A) (@)-@D), (b)-({ii), (0)-Gv), (d)-()
(B) (@)-@), (b)-(iD), (c)-(D), (d)-(v)
(C) ()-Gv), (b)-GiD), (c)-(GD), (d)-()
D) (a)-iD), (b)-Gv), (c)-@), (d)-(i7)

24



56.

57.

Which of the following are the
elements of the Gujral Doctrine ?

Answer using the key given below :
(a)
(®)

Principle of non-reciprocity

Peaceful resolution of bilateral

disputes
(c)

Non-use of nuclear weapons

against South Asian neighbours

(d) Promoting trade within South

Asia
Key :

(A) (@) and (c)
(B) () and (d)
(C) (@) and (d)
(D) (a) and (b)

India launched the Vision Document
for the Asia-Africa Growth corridor

in May 2017. Which country is the

partner of India is this project ?
(A) United States

(B) Indonesia

(C) Japan

(D) Australia

56.

57.

SEP - 15221/I1—A

WU IO T T[S JoTer

o

feeiean = amX

~N (a
gk 3Aled 7 Wl

hed 3T Il e

qERAT AR O

feuafiar foame siaa=an ArT Freau

(@)
®)

) =Tferor enferard wiwraifassg

STV A9 A h0]

(d) <feror TG SMRIen =Ter <o
g

(A) (a) 3T (c)

(B) (b) T (d)

(C) (a) M (d)

D) (a) 310 (b)

T 2017 A8 YRAW ATTE- TR My
FHINESIE fgs SlagHe qfEg ol a1
IYSHHT HIVT T TRATET YIER 378 ?

(A) T\ (US)
(B) ESMf¥RN
(C) U™

(D) sttt

25
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58.

59.

Which of the following is not an
element of the India-US Nuclear
Deal ?

(A) Separation of nuclear plants in
India between “Civilian” and

“Nuclear”

(B)

Bringing “civilian” plants under

IAEA supervision
C)

Closure of “military” plants

(D) Signing India-specific

agreement with TAEA for

verification

Which of the following refugee
communities have been given refuge

in India ?

(@) Tibetans

() Sri Lankan Tamils
(¢) Afghans

(d) Rohingyas

Codes :

(A) (a), (b), (c)

B) (a), (b), (), (d)

(C) ), (e), (d)

D) (a), (c), (d)

58.

59.

SEP - 15221/I1—A

TTAdeh! IV TGS TR -STHIERT

STURIRIET YT ATEl ?

(A) YRATe SToyehedr=t AT’ amfor
YoreeRdt!! ereft fawrmoft RO

(B) AT’ HUUHET STAWRTE A
SIS A=A S BRE @
FroTo

(C) ‘T’ UURTY FT HIU)

(D) STAWSET T[Sl ATFEIER
YHTIT=AT  TSATBUIT HXd]
qRd-fafdme I 3o

EeTeTieh! v Haifad T JRaH

e foen e ?

(@) faaet

() shicehdia qfe

(c) STHIO

(d) Afgwn

i

(A) (), (B), ()
(B) (a), (®), (o), (d)
(C) (b)), (c), (d)
D) (a), (o), (d)
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60. Match the correct pairs using the key | 60. @l fooiean FEen IR wEA AT
given below : e Seed
India’s watersharing agreements I SR YA grofereqrs
with neighbours : R ;
Column I w1
(@) Pakistan (@) dIfeRrE
(b) Bangladesh (b) TR
(¢) Nepal (c) HuTe
Column II w11
(z) Kosi agreement @) P FW
(z1) Indus water treaty @) ﬁ:i%i T IR
(i11) Farakka Barrage Treaty (ifi) W W
Codes : Hehdlan :
(A) (@) - (), B) - (D), (¢) - (i) A) (a) - (@), (b) - (1), (c) - (D)
B) (@) - Gi), ®) - (), () - (i) B) (@) - @), () - (), () - @)
©) (a) - Gii), ®) - (D), () - () (C) (a) - @), (b) - (D), (¢) - @)
D) (a) - G1), (B) - @), (c) - (@) D) (a) - G1), (b) - GiD), () - (@)
61. The Constituent Assembly accepted | 61. Wquagﬁ L \ """"" RIBRCCHII
the constitution on .................. . USFHETHAT EFTehIT chedl
(A) 15th August, 1947 (A) 15 A, 1947
(B) 26th January, 1950 (B) 26 SHaR!, 1950
(C) 26th November, 1949 (C) 26 AR, 1949
(D) 8th August, 1942 (D) 8 AN, 1942
62. Fundamental duties were included | g2. eIy ATl THEY] TZAT cevevenn..
in the constitution by the .............. LI ST,
Amendment.
(A) 44th (8) 44
(B) 52nd (B) 527t
(C) 42nd (C) 424
(D) 83rd D) 83
27 [P.T.O.



63.

64.

65.

66.

Article 368 of the constitution deals
with :

(A) Emergency Powers

(B) Amendment Procedure
(C) Fundamental Rights
(D) Panchayati Raj System

Minimum age of voting has been

brought down from :
(A) 25 to 21
(B) 21 to 18
(C) 21 to 20
(D) 20 to 16

Which among the following states
do not have Vidhan Parishad ?

(A) Jammu and Kashmir
(B) Maharashtra

(C) Bihar

(D) Tamil Nadu

Indira Gandhi declared internal

emergency between :

(A) 1971 - 73
(B) 1975 — 77
(C) 1980 — 84
(D) 1975 — 78

63.

64.

65.

66.

SEP - 15221/11—A
T ShetH 368 e Tt =l hid :

(A) ATOTSTONaeR TR

(B) wEreAgeir=t sk
(C) HAYd AR
(D) RIS SHeE

(A) 25 I&9 21
(B) 21 &7 18 =X
(C) 21 989 20 X
(D) 20 I&4 16 =X

TeATeAteh! Shivrean Toamed faumafie
T 99rE A ?
(A) ST Tfor ReHR

(B) HBRTE

(C) feer

(D) dfHesTg

Sfeqr e umiarta stofteon
T HlAd @] hell

(A) 1971 - 73

(B) 1975 - 77

(C) 1980 - 84

(D) 1975 — 78
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67.

68.

69.

Which of the following is not the

function of Parliament ?

(A) To form or end the government
(B) To represent the electorate
(C) To interpret the laws

(D) To legislate

Provincial Autonomy began with
Government of India Act .............
(A) 1909
(B) 1919
(C) 1935
(D) 1937

Article 32 of the Constitution deals

with :

(A) Judicial Reforms
(B) Judicial Review

(C) Judicial Activism

(D) dJudicial Academy

67.

68.

69.

SEP - 15221/I1—A

qEicTush! IV HTH GHQE e 2

(A) TR MU 3R €l HRIH
Y9!

(B) wagR Hidffeee o

(C) =hrE=l = e

(D) HES HI

qTfeh TaTaael oo HRA FXehAT

I KIS AT
(A) 1909
(B) 1919
(C) 1935

(D) 1937

(A) =nfash gemron

(B) =faeh YAfacieh

(C) —faes Hehiad

(D) ek STehTHT
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70.

71.

72.

Who is the Chairman of Niti Ayog ?
(A) President

(B) Prime Minister

(C) Speaker of Lok Sabha

(D) Home Minister

supported Dunkel Draft

and GATT.

(A) Hind Mazdoor Kisan Panchayat
(B) Kisan Sabha

(C) Shetkari Sanghatana

(D) Bhartiya Kisan Union

The withdrawal of the State from
various walks of Social Life is the

result of :

(A) Liberalisation, Privatisation,

Globalisation
(B) Terrorism
(C) Inter-state Disputes

(D) Regionalism

70.

71.

72.

SEP - 15221/II—A
it AN Te9e hI0 3Mgd 7
(A) Tt

(B) dauem=

(C) REH 1A

(D) T

(A) T Ao foram v=md
(B) fram Hu
(C) TR Fee

(D) wRdE fRam giem

(A) TR, WSROI, STTTTeh L0l

(B) <®RIAAI]

(C) ST-TT 915

(D) TeIER
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73.

74.

Ambedkar converted to Buddhism

along with his followers in ........... .
(A) Bodhgaya

(B) Nagpur

(C) Mumbai

(D) Sarnath

Who among the following has the
constitutional responsibility of

creating new States ?
(A) Supreme Court
(B) Prime Minister
(C) Parliament

(D) State legislature

73.

74.

SEP - 15221/I1—A

STEEHIHAT =T STIATATER
I IR QY EH FHiaX ol
(A) e

(B) =T

(C) g

D)\

EATAIehT ShIOTeR et o= Tafedr=

SR 3T ?

(A) Ha=g <RI
(B) dauem
(C) ¥

D) T fafies

75. Free and compulsory education for | 75. 1451 Ioigd lj,c'ﬂdl TR ST Hiha
the children upto the age of 14 is fereror 2 TRy T AT,
now a part of ........ccceeeeeeeeeeil .

(A) Fundamental Right (A) LA SHFR
(B) Directive Principles of State (B) w2a=l HUeYieh dd
Policy
(C) IS SAMRHR
(C) Legal Right
(D) Preamble (D) ¥ WRdTa®
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76.

77.

Match the following :
List T
(@) Maharashtra
(b) Gujarat
(c) Karnataka
(d) West Bengal
List IT
(1) Gorkhaland
(2) North Karnataka
(3) Saurashtra
(4) Vidarbha
Codes :
(A) (@)-(4), (b)-(3), (c)-(2), (d)-(1)
(B) (a)-(1), (b)-(2), (c)-(3), (d)-(4)
(C) (a)-(4), (b)-(1), (c)-(2), (d)-(3)
D) (a)-3), (b)-(2), (c)-(1), (d)-(4)

World Social Forum was a platform

against .....c.ccoeeevveeeeeennn. .
(A) Socialism

(B) Globalisation

(C) Cold war

(D) War

SEP - 15221/I1—A
76. Sl Jeodl
et 1
(@) HERTE
(b) TSN
(c) HIH
(d) T A
et 11
(1) TIREmes
(2) IW FHAlCH
(3) drrg
4) fored
Hehdieh :
(A) (@-4), (b)-(3), (©)-(2), (d)-(1)
(B) (@)-(1), B)-(2), (€)-(3), (d)-(4)
(C) (@)-(4), (B)-(1), (e)-(2), (D-(3)
D) (@)-(3), (b)-(2), (©)-(1), (d)-(4)

77. doe "I HILHET e T

foQiy &I
(A) THENGOR
(B) SIfdentehior

(C) sfags
D) Is
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78. M. S. Swaminathan Committee

79.

80.

Report deals with ....................... .
(A) Industrial labour

(B) Centre-State Relations

(C) Agriculture

(D) Road Safety

Which of the following represents

politicisation of religion ?

(@) Ram Janmabhoomi — Babri
Masjid Dispute

(b) Conversions

(c)

(d)

Affirmative Action

Reorganisation of States
(A) (®) and (c)
(B) (¢) and (d)
(C) (@) and (c)
(D) (@) and (b)

Twelve members are nominated to
the Rajya Sabha by ................... .

(A) President of India
(B) Prime Minister of India
(C) Chairman of Rajya Sabha

(D) Supreme Court of India

SEP - 15221/I1—A

78. TH. TH. WHMAYA ARENTE Agard

79.

80.

1 fawamel Hefya .
(A) iR &R

(B) ®g-Tg GaY

(C) It

(D) & &

TTTATHRT HIOTAT AT AES  GAT

ek iRl gear fewd ?

(@ ¥ SHHYH - ored wefi] o )
(b) iR

(c) HHRIH® el

(d) T= gRI

(A) (b) 3 (c)

(B) (c) 3 (d)
(C) (@) = (c)
(D) (a) 37T (b)

TIHI=I o AT 9Td GTEeT=

(A) YRAT™ 2!
(B) YA Gdgem™
(C) TSHEYT TYIdr

(D) YRAE Haed =TI
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81.

82.

Give the correct answer by using the

codes given below :
Assertion (A) :

Globalization does not put an end
to the Public

Administration.

state and

Reason (R) :

Globalization is not effecting
‘roll back’ of state and not failing to

reinvent the government.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1S not correct

(&)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

Who among the following scholars
is at the forefront in developing

neoliberal perspective ?
(A) Frederick Von Hayek
(B) John Rawls

(C) Claus Offe

(D) Peter Drucker

81.

82.

SEP - 15221/I1—A

Tl fooiean geElqa 9rd ST ehen .

fagam= A)

' STfdenteRTor’ § TS ST AR I9TRAT=

e hid T8l

T (R) :

SIITfdeR Ieh{0T FBUMSl TSAT= AT 37f0

M qARiE ST9Ie @ e
PO

(A) (A) 3T (R) ¥ T U908 SR

SA (R) B (A) T SRR T
3R

(B) (A) 27fo1 (R) © Ta=Iqol s 3ATed
U7 (R) ® (A) = I TI6TeRT0] el

(C) (A) SR 318 3T (R) Ik 3118
(D) (A) 9% 3T AT (R) SR 3T
WATATShT ShIvT 378 TaSeRATAG]

e faeE v SR TR ?

(A) BeRe& =M TS
(B) S Uew
(C) FAfe A

(D) X T
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83.

84.

Comparative public administration
emerged on account of the following
reasons and conditions. Identify the

incorrect option as an answer :

(A) Search for theory

(B)

Urge for practical application

(C) Deep interest in the cultures,
politics and administration of

newly formed nations

(D) Cold war

Who has described the new

emerging regulatory regime as the

‘Schumpeterian Workfare State’ ?

(A) Paul Streeten

(B) Anthony Giddens

(C) Paul Wilding

(D) Bob Jessop

83.

84.

SEP - 15221/I1—A

SNRIGERGIEN N INEIC IR RCIGI MR

anfor aRfEerdiges e At S

(A) Tagmarn iy

(B) HERIe: SUAISHET 590

(C) T&hdl, TSRO M Y9mEA =
(D) Ifags

R s haR We'H M 35

U} e TsEe 318 U v Shel ?
(A) dra fedm

(B) fertt fire=q

(C) da fafeen

(D) wfs S99
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85.

86.

Which one of the following facts
about generic management is

incorrect ?

(A) First conscious and systematic
application of management

principles was in US Army

(B) It was done by Elihu Root in
1901, who was US President

Roosevelt’s Secretary of war

(C) The First
Congress was held at Prague in

1922

Management

(D) Principles of management were
differentiated between business
and non-business organization

in Prague Congress

Who emphasized the need for clearly
spelling out the objectives of every
manager in either private or public
organization ? So that he could
control his performance and direct
his efforts towards achieving the

objectives of his organization ?
(A) F. W. Riggs

(B) Peter F. Drucker

(C) Frederic Herzberg

(D) Rensis Likert

85.

86.

SEP - 15221/I1—A

AT SHEEATIAT=A1 Sredid @eiierdeh]

IO TUINA ST A ?

(A) Ut AW FILUTIR A

(al o (a (a c

qeaTE ettt afeett Sofageesh 9
A SIS

(B) THRRA Treael TUsiiex ol
g Wiea gfelg ® I 1901 o
Sholall AN

(C) 1922 =1 AT Jeftad WWeAcdt il
LTI 0T

(D) T 9T ST STk

A0 TeATe s 3799 FEeA=A

e fafa=eReo Fvad e

s HILATIRTAT AT RN
o o A o Teeaw 3fese A
w0 fe¥ dete yIen T fewm
TrEEdl d5d AT IeIMH WIS 0T

o o oY o ha¥ [aV
NIESIEEIR- IR E N E L I B EA ]

SfEte TS ITeTd HITUAT=AT TRSTe Shiof

W e ?

(A) Th s=g. fos
(B) W& Th. T
(C) wheftw wefent
(D) Yf=w o
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SEP - 15221/I1—A

87. Match List I (Scholars) with List Il | 87. =<t I (fagas) sufor 4t II (Ag@

(1) A leader performs 4 functions-
setting goals, securing means,

(Formulations on leadership) and et o) WWWW'@T@F{
select the correct answer from the e o o ~
. Hdendlenldl UK e ‘&h’l’&[ SCa) [d s ¢
codes :
List I BRI
(Scholars) (FHGTeT)
(@) H. Koontz and O’Doneel (@ TE == for e e
(b) C. I. Bernard (b) . e sHe
() Daniel Katz and Robert () Faa s onfor A Tl Fed
L. Kohn N ) A
(d) A. K. Rice @ T % T
List II RICUBI
(Formulations on Leadership) (g Fraior ge®)

(1) afAfy=dt, qeET gRem, Hdiag

e, T & St 9R S

control over action and )
coordination HIfTdet

(2) Identified 3 levels of leadership (2) TLEAHS, T, Fareht frfed
acts

(3) Conceived of leadership in
terms of boundary controlling
functions

(4) Identified three different
approaches to leadership-

3T A=A A9 WRER il
Hiftraean

(3) 1 frasm=n i Aqgcr
FHeqT FEUd STHEAT™ WifTel

(4) v, TRk onfor sl et

traitist, _ situationist and &9 e grbdohld T
elementalist.
Codes : Hehdieh
@ ) @ @@ (@ B © @
A @ @O 3 @ A @ @O G @
B @B 2 1 @ B B @2 1) @
< @ 3 @ @ e O B @ @
M 2 O @ 3 D 2 1 @ O
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88.

89.

90.

Who introduced the concept of
‘knowledge worker’ and ‘knowledge-

based organization’ ?
(A) Joseph Coats
(B) Warren Bennis
(C) Peter Drucker
(D) Chris Argyris

Mary Parker Follett was criticized

for :

(A)

Ignoring concerns of her time

(B)

Not interpreting social content

of organization scientifically

()

Her thesis on depersonalization

of order

(D) Drawing distinction between

“power over” and “power with”

Which one of the following concepts

favours market-friendly and

business process engineering, apart
from continuing with old principles

of public administration ?
(A) Scientific Management
(B) Science of Administration
(C) New Public Management

(D) New Public Administration

88.

89.

90.

SEP - 15221/11—A
‘[ T e it weeAr' @
HHTIAT IV HGT el ?
(A) S HId
(B) e afe
(C) dreX g
(D) few o
TR TR HicTedX ATHIS! 1Rl shedl el :

(A)

Fleel HIHRS Faial sl

(B) HeeT=a1 QIS SATIATE ST

sraened drEen e

feAfgciean sqexd=a STeafaaen o=
EERIEIC]

‘saieiel Fear' ST saRieieie

o' Fd f sheiean wihs

(&)

(D)

QeI IS i I NERE

EATCTUh | IO SehoUT SITSTLEal 37107

~

gfRae

eI I RE R ERy
A ?
(A) IMST HTETA

(B) 99mHATd I
(C) &1 <lieh ST
(D) TEH e gImEA
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91.

92.

Give the correct answer by using the
codes given below :

Assertion (A) :

The public-private distinction should
not be viewed as a matter of
orthodoxy.

Reason (R) :

Many of the organizational designs
and practices pioneered by the
private sector may be profitably
introduced in public administration.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The Citizens’ Charter is based on the
following principles :

(@)

(B)

Wide publicity on the standards
of performance of public
agencies

b)
()
(d)
Codes :

(A) (a), (b) and (d)
(B) (@), () (c) and (d)
(C) (), (c) and (d)
(D) (a) and (c)

Assured quality of services
Access to information

Simplified grievance redressal

91.

92.

SEP - 15221/I1—A

Gt HehdiehT=l 9T hed AR 3N
fagam™@ A) :

eI Toh -SSR THiehlehe
ROfTes gl difgal S 3.

T (R) :

@IS AT 3Tk TeeAcHeh ARES

S0 HIBR & ARYLEAN STHHT]

AN el .

'Fl@'d’l? :

(A) (A) 3T (R) ® S8t Taa=q01 sRIsk
3G (R) ¥ (A) ¥ SRISR TAIHT
3T

(B) (A) 2TfUT (R) ¥ T8t A= SR
3R 991 (R) ® (A) T ITT TR0
B

(C) (A) sk a8 90 (R) I 3T
D) (A) I 3 907 (R) s 3
AR G Weliel axdior ST
IR

(@)

o0

o
SIESIKE? 3"|ﬁ-|°h{UIIU¢II cn[HIV XA
AR HAgR Tt

() THfe=a ToERen &

(c) wifedtE died

(d) TR Tt gav sgewen
Hehdlah :

(A) (@), (b) iU (d)

(B) (a), (b) (c) =nf01 (d)

(C) ), (c) =0 (d)

D) (a) 30 (c)
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93.

94.

Number of social accountability
initiatives are undertaken in
different parts of the world which are
as follows :

(@)
®)

Participatory Budget Analysis

Participatory Expenditure
Trecking

()
(d)
Codes :

(A) (a), (c) and (d)

(B) (b), (¢) and (d)

(C) (a), (b), (c) and (d)
(D) (b) and (c)

Community Score Cards

Citizen Report Cards

Traditional mechanism of

accountability are :
(@) CAG

)
()

Public Accounts Committee

Corruption - Controlling

agencies like Central Vigilance
Commission

(d) Social Audit
Codes :

(A) (a), (b), (c) and (d)
(B) (a), (b) and (c)

(C) (®B), (c) and (d)

(D) (c) and (d)

93.

94.

SEP - 15221/I1—A

ST fafae v S ST
3T IUHH T Bat S S Wedt 3T ¢

(@) WARRT s1efHehey fageivo
(b) AR Tr=i=n sere/qre
() THEE YOI TlfcTeht/TO1 Teh

(d) AT TRard A
Hehdieh :
(A) (a), (¢) 3 (d)

(B) (b), (c) U1 (d)
(©) (@), B), (c) M (d)
(D) (b) 2o (c)

ST YRUReh a3
(@) =T
(b) @Ik @ G

(¢c) hald T&El STRENERE YR
o= AR

(d) TSR 3Teherur
SO
A) (), b), (c) 30 (d)

(B) (@), (b) M (c)
(C) (b), (¢) 3 (d)
D) (¢) M0 (d)

40



95.

96.

‘Democratic Deficit’ concerns with :

(@)

Declining levels of citizens trust
in political institutions

b)
(c)

Primacy of form over substance

Shift from representative
democracy to participatory
democracy

(d)
Codes :

(A) (@), (¢) and (d)
(B) (c) and (d)

(C) (a), (b) and (c)
(D) (a), (b) and (d)

‘Social Audit’ means :

Not holding regular elections

(@) A process that enables an
organization to assess benefits
accrued

(b) Measuring the extent to which
an organization lives up to
shared values and committed

objectives

(c)

Helping an organization in
budgetary planning process

(d) Reviewing governmental

expenditure
Codes :
(A) (a) and (b)
(B) (@), (b) and (d)
(C) (b) and (c)
(D) (a) and (d)

96.

SEP - 15221/I1—A

AMTRERTET SR HEATdid  o1ed
SN NIMEEEIES

ThRIUET ST WTE=
gfaftferess creremdiened weurl

N LN
CllenRilelens  Alcdic

Ll

b)
(c)

[aS o fa

(d) SAMAMHT TTISI[hI
Hehdich :

(A) (a), (¢) AT (d)

(B) (c) =fo1 (d)

(C) (a), (b) U (c)

D) (a), (b) U (d)

AN 3ThelT TN

(@) TH gfewar S g arar=
TN HLUAE HeH Hid

oA R MR o
o el godr foRdl gHETOTd el

o= HISHIY h{U]

®)

~

[y

31efgeRey S fhad Fere
e 0!

(d) M GEE A ol

Hehdlah :

(A) (a) 3f0T ()

(B) (@), (b) iU (d)

(C) (b) 3T (c)

D) (a) 30T (d)

(c)
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97. Match List I (Ends of

Accountability) with List II (Tools
of Accountability) and select the
correct code :

List I
(Ends of Accountability)

(@) Openness

(b) Moral conduct

(c) Legitimacy of decision-makers
(d) Responsiveness

List II
(Tools of Accountability)

(1) Public participation and
consultation debates, advisory
bodies, public meetings

(2) Parliamentary question time,
public  hearings, public
information services, annual
reports

(3) Societal values, social justice,
public interest

(4) Constitutional provisions, formal
delegation of authority, electoral
systems for government

Codes :

(@ b)) @ ()
A O @ @ @
B 2 B3 @ @
© @ @2 @©O 3
M &) 1 @ @)

SEP - 15221/I1—A

97. Siredl Sear-yget I = =t 11 3 :

et 1
(ST |Te)

(@) Feiqom
(b) fdek SR
(¢) ot FuReRrET stfemm=m
(d) wfqame™
et 10
(STt HTer)

(1) w9 ggum efur fa=ur fafi==,

Ie-faareg, edrR e, S

(2) WHSHAIA WU¥AHhIes, SH FAAUN,
S Hifgdl Fer, MfteR STRaTe

(3) WIS Hed, |HISTh =1, SHied

(4) FATH® Tal, siro=nies ueq

ATYRR, IMEAETS e e
Hehdiah :
(@ b)) © @

@ 1 @ @ @
B) 2 @B @ @
© @ @2 @O O
M B 1 @ @
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98.

99.

100.

Policy evaluation is done by the
following methods :

(@) Policy impact evaluation

(b) Policy strategy evaluation

(c) Policy project appraisal

(d) Policy monitoring mechanism
Codes :

(A) (a), (b) and (c)

(B) (a), (6) (c) and (d)

(C) (b) and (c)

(D) (), (c) and (d)

‘The Policy Sciences’ is regarded as
the first systematic book towards
building a new field of enquiry in
Public Administration. Who
authored it ?

(A) John Dewey
(B) Harold Lasswell
(C) Peter de Leon
(D) S. S. Nagel

Proliferation of private-public
partnership and exchange is posing
a challenge to :

(A) Good governance

(B) Legislative and executive

means of accountability
(C) Regulatory architecture
(D) Quality of public services

98.

99.

100.

SEP - 15221/T1—A
GRS Hediehd Teel TEAIgR ohel S :
(@) ERU qROMH HeARA
(b) €Ul SRIHSF HedTh
() ERU Yeheur=l GHiET
(d) #R7 GEl
Hendieh :
(A) (@), (b) 3 (c)
(B) (a), (b) (c) =f0T (d)
(C) (b) 3T (c)
D) (b), (¢) =0T (d)

‘T gifadr 9E=|w’ a1 g™
AT URTEATIA Tehl &A1 &A1=

Tfgett TSR ASUT HHEA S, =
T HI0 el ?

(A) S fea

(B) ¥ee AEad

(C) deX Bl st

(D) TH. THE. 0

SIS -Hesieh QR 31for fafaren

(A) G-UTHERTH

(B) STIEIIcar=al &EacHEs 3ol
FHESRRT LA

(C) famHe ARES]

(D) TrehEET TuTe
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ROUGH WORK
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